MATHE&E

DECIMALS <

Aclclitien.Puzzle

Complete the cross-word puzzle with the answers to the addition problems below. Remember, a decimal
point counts as one cell. Use scratch paper if necessary for showing your work.
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1278.03 + 563.42 = 841.45 27.62+.035=
3298.153 +1/6.273 = 4 409.16 + 236.58 =
856.306 4+ 39.153 = 57.71+1.2=
107.4 +4.3 = 6 42.944 + 53./713 =
1177 +3.6= 741.6 +53.6=
1228 + 3.1 = 942+ 1.2=
137.71 +6.4 = 11 2.642 + 2,116 =
15332+ 1754 = 14 40.3 + 54.3 =

© ThuVienTiengAnh.Com



